SOLVED PAPER

UTTAR PRADESH POLICE CONSTABLE EXAM

Held on : 25.10.2018 (Shift-1)

GENERAL AWARENESS

1. Article 66 of the Constitution

of India deals with:

(1) the constitution of Parlia-
ment

(2) election of Vice-President

(3) duration of Houses of Par-
liament

(4) the Attorney-General for
India

2. The capital of Syria is:

(1) Aleppo  (2) Damascus
(3) Homs  (4) Hamah

8. Which of the following is the
currency of Myanmar?

(1) Kyat (2) Naira

(3) Rial (4) Krone

4. Which of the following is the
most populated country in
Africa?

(1) Morocco (2) Nigeria

(3) Benin (4) Somalia

5. Which among the following
countiries of North America
has the largest forest area in
the North American region in
terms of percentage to total
land area?

(1) Cuba (2) Canada
(3) Haiti (4) Jamaica

6. Which of the following rivers
does NOT drain into the Bay
of Bengal?

(1) Narmada (2) Kaveri
(3) Krishna (4) Godavari

7. The noted human rights ac-
tivist Kriti Bharti is engaged
in a crusade against:

(1) acid attacks on women
(2) child and bonded labour
(3) child marriages

{4) manual scavenging

8. The Government of India is

going provide to Chhattisa-

9

10.

11.

12

13

14

.

garh a specialized anti-Naxal
combat force called :

(1) Black Panther

(2) Greyhounds

(3) Cobra

(4) White Tiger

In which year was the Simla

Agreement signed between In-
dia and Pakistan?

(1) 1970 (2) 1972

{3) 1974 (4) 1976

In which city has NABARD set
up a Centre for Climate
Change in 20187

(1) Patan (2) Bhopal

(8} Jaipur  (4) Lucknow

To which country does Ma-
dame Christine Lagarde, Man-
aging Director and Chairper-
son of the International Mon-
etary Fund, belong?

(1) United States of America
(2) Switzerland

(3) France

(4) Australia -

Blood clot is formed because
of the presence of certain cells
in the blood, called :

(1) Erythrocytes

(2) Lymphocytes

(3} Monocytes

(4) Thrombocytes

During fertilization in living
beings, fusion of male and fe-
male gametes takes place to
form a cell called :

(1) Zygote (2) Embryo
(8) Ovum  (4) Sperm
A resting person normally has

a pulse rate between
beats per minute.

(1) 72 and 80
{2) 60and 75
(3) 90 and 120
(4) 80and 120

15.

16.

17.

18.

19.

20.

There are some plastics which

when moulded once, connot

be softened by heating. These

are called :

(1) Polyvinyl Chloride

(2} High-density polyeﬂlene
(HDPE)

(3) Thermoplastic Polyure-
thanes (TPU)

(4) Thermosetting plastics

An adult human being nor-
mally passes about 1 to
of urine in 24 hours.
(1)1.2L (2)2.5L
(3)3.0L 4 1.8L
On 11 December, 2014, the
United Nations proclaimed
as the International
Day of Yoga by resolution 69/
131.

(1) 21 June

(2) 25June

(3) 25May

(4) 21 May

Nobel prize for inventing Vi-
tamin K in 1943 was given to

(1) EC.Kendel

(2) Doisy & Dam

(3) Carl Linnaeus

(4) Stanford Moore

Who is the author of the book
‘Inside IB and RAW: The Roll-
ing Stone That Gathered
Moss™?

(1) Ashok Chaturvedi

(2) Vikram Sood

(3) K Sankaran Nair

(4) KC Verma

Which amendment conferred
simultaneous power upon Par-
liament and the State Legis-
latures to make laws govern-
ing goods and services tax?

(1) 101st Amendment Bill,
2014
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21.
“= program behaving like an au-

22.

(2) 115th Amendment Bill,
2014

(3) 120th Amendinent Bill,
2014

{4) 122nd Amendment Bill,
2014

An unauthorised computei'

thorised program, thereby
concealing what it is actually
doing, is probably :

(1) Trojan Horse

(2) Voyeur

(3) Diddling

(4) Spamming

16 year old Saurabh Chaudhary

. who won a gold medal in shoot-

ing at Jakarta Asian Games,
2018, hails from _ of Ut-
tar Pradesh.

(1} AHahabad
(2) Gorakhpur
{3) Meerut

" {4) Aligarh

-

24,

25,

26.

Which of the following is NOT
a tributary of the rigver Yamu-
na?

(1) Ken (2) Betwa

(3) Chambal (4} Kalyani
The soil in which potash is
mainly deficient is found in
district of Uttar

Pradesh.

(1) Jaunpur
{2) Baharaich
(3) Balrampur
(4) Gonda

‘Which of the following Dscr-

ticts of Uttar Pradesh is a part
of Bundelkhand region?

(1) Chandauli
(2) Auraiya
(3) Mahoba
(4) Etah

The Lion Capital of Ashoka,
which has been adopted as
the National Emblem by the

~ Government of India, is pre-

served in the
urn.

muse-

27.

28.

29.

30.

3L

32.

33.

(1) Kushinagar
(2} Sarnath
(3) Kannauj
(4) Lumbini

Which of the fo]lowmg regions
of Uttar Pradesh was known

as Jeijak-Bhukti or Jayhoti |

under the Chandel rulers?
(1) Avadh

(2) Bundelkhand

(3} Kashi

(4) Doab

Uttar Pradesh is also credited
with publishing the first fem-
inist magazine ____ in 1847
whose editor was Bhartendu
Harishchandra.

(1) BalaBodhini

(2) Saraswati

(3} Sitare Hind

(4} Udant Martand

The famous sitar maestro
Nawab Inayat Khan belonged
to of Uttar Pradesh

(1) Etah (2) Etawah

(3) Auriya {4} Firozabad
In which city was the third
Buddhist Council held?

(1) Yangon (2) Patliputra
(3) Vaishali (4) Rajgir

In which year was the Reserve
Bank of India established?
(1) 1930 (2) 1935

(3) 1940 (4) 1945
Chemanchery Kunhiraman
Nair is a noted dancer associ-
ated with which of the follow-
ing dance forms?

(1) Kathakali

(2) Mohiniyattam

(3) Bharatnatyam

(4) Yakshagana

What is India's rank globally
in the production of onion as
per Food and Agriculture Or-
ganization Corporate Statis-
tical Database, 20162

(1) First {2) Second
(3) Third (4) Fourth
. What was the growth percent-

age in India’s exports during
the financial year 2017-18?

(1) Part-VI _
© {3y Part-VIIL ' (4) Part-X1I
36.

37.
<+ cles of the Constitution of

(1) 14

(1) 6.8 percent
(2) 7.8 per cent
(3) 8.8 per cent

(4) 9.8 per cent
35.

Which of the following Parts
of the Constitution of India
deals Wlth Citizenship?.

(2) Part-II

A child below the age of ___
years CANNOT be employed to
work in any factory under Ar-
ticle 24 of the Constitution of
India.

(2) 15

(3) 16 (4) 17

Which of the following Arti-

India deals with the manner
of election of President? -

' +(1) Article 67 (2} Article 55

(3)Article 51 (4] Article 74

. Who among the following was

the Deputy Speaker of the first

Lok ‘Sabha in India?

(1) Rabi Ray

(2) Bali Ram Bhagat

(3] M Ananthasayanam Ayy-
angar '

(4) G Lakshmanan

NUMERICAL &
“MENTAL ABILITY

39.

40.

41.

840 960

— and —— are both posi-

X% X
tive integers, and so is x. What
is the largest possible value of
x?

(1) 140 (2) 210

(3) 120 (4) 240

Which of the numbers given
below is exactly divisible by
122

(1) 14744  (2) 28856

(3) 43976  (4) 57228

If arope 154 m long is divided
in the ratio 9 : 5, then the
length of the shorter piece (in
m) is :

(" UCSE-71 |
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42.

43.

45.

486.

47.

(1) 60 (2) 55
(3) 52.5 (4) b0
78% of 450 is :

(1) 351 (2) 312
(3) 296 (4) 303

Rs. x invested at 9% simple
interest per annum for 7 years
yields the same interest as
that on Rs. y invested at
5.25% simple interest per an-
num for 16 years.

Find x: y.
(1)10:9 2)12:7
(3)4:3 4 16:7

. By selling an item for Rs. 198,

Souvik made a loss of 12%.
By how much should he have
raised the price to make a
profit of 8%?

(1) Rs.25 (2)Rs. 55

(3) Rs.44 (4)Rs. 4b

The discounted price of a toy
was Rs. 1470. If the discount
offered was 16%, what was the
marked price of the toy?

(1) Rs. 1800 (2) Rs. 1750
(3) Rs.1720 (4) Rs. 1680

Rishika and Akash invested
some money each in a part-
nership. Rishika had invest-
ed Rs. 1875 and took home
Rs. 225 as his share from the
profit made. If Akash took
home Rs. 288 as his share of
the profit made, then how
much had Akash invested?

(1) Rs. 2475
(2) Rs. 2500
(3) Rs. 2400
(4) Rs. 2250

The average marks obtained by
a group of 25 students was 24.
One student left the group as
a result of which the average
of the remaining students
rose to 25. But another stu-
dent came in as a result of
which the average marks of
the group dropped a bit and
became 24.8. What was the
average marks obtained by the
student who left and the one
who joined later?

48.

(1) 10 (2)15

(3) 20 (4) 25
Ifx:4:y:5 then x: yis:
(1) 5:4 (2) 4:5

(3) 16:25 (4) 1:20

49, What would be the interest

50.

51.

accrued in two years if Rs. 600
is invested at the rate of 10%
interest compounded annual-
Iy?

(1) Rs. 121 (2) Rs. 123

(3) Rs. 124 (4)Rs. 126
Abhay and Shreya can indi-
vidually complete a piece of
work in 42 mins and 70 mins
respectively, Starting with
Abhay, they work alternately
for a minute each till the work
is completed, with only the
one working at the end being
allowed to work for less than
a minute in the final turn.
How long will it take the duo
to complete the work?

(1) 52 mins 24 secs -
(2) 52 mins 30 secs
(3) 52 mins 36 secs
(4) 52 mins 40 secs

Raksha can complete a piece
of work in 12 days while Es-
ther takes 20 days to complete
the work. They start working
together but Raksha leaves 4
days before the work gets over.
For how many days does Es-
ther work?

(1) 6
(3) 10

(2)8
4y 12

52. A ship develops a leak 20 ki

from the shore. Despite the
leak, the ship is able to move
towards the shore at a speed
of 12 km/hr. However, the
ship can stay afloat only for
23 minutes. If a rescue vessel
were to leave from the shore
towards the ship and it takes
8 minutes to evacuate the
crew and passengers of the
ship, what should be the min-
imum speed of the rescue ves-
sel in order to be able to suc-
cessfully rescue the people
aboard the ship?

B T T TR

53.

54,

55.

56.

(1) 65km/hr
(2) 67 km/hr
(3) 68 km/hr
(4) 70km/hr
Paulson usually leaves his
home everyday at 8 : 15 am

and travels at a certain speed
to reach office on time. One

% of the

usual speed and hence arrived
45 minutes late. How much
time does Paulson usually
take to reach his office?

day he travelled at

1

=
(1) > hours
@ 11 n

5 hours
@ 1> h

4 hours
@ 1= b

8 oxgs
Simplify :

48 +([25-{20-(11-16+2x
="

(1) 40 (2) 32
(3) 62 (4) 58
Simplify :

256 + 25.6 + 2.56 + 0.256 +
0.0256="7?

(1) 284.6536

(2) 284.4666

(3) 284.4766

(4) 284.4416

Which of the fractions given

1

below is not equal to % 2
39 91

(1 57 @ 133
195 208

3) 247 4 304

57. The LMC of 47, 141 and 188

15 2
(1) 564
(38) 376

(2) 282
(4) 424



SOLVED PAPER-05

2

SOLVED PAPER-05

MENTAL APTITUDE, IQ &

REASONING ABILITY

58, Identify the missing term in the

59.

60.

61

62.

63

following number series :
15, 6, 18,9,21, 3,24, 7
(1) 4 2 6
3) 8 @ 9
Identify the next term in the
given number Series :
295, 289, 361, ?
(1) 400 2) 411
(3) 421 (4) 441
Identify the next term in the
given number series :
15, 17, 22, 29, 40, ?
(1) 52 (2) 53
(3) b7 (4) 63
. If South-East becomes North,
North-East becomes West and
so on, what will South-West
become?

(1) East (2) North
(3) South (4) West
Atul walks 5 ki toward North

and then turns to the right.
After walking 3 km he turns
to the right and walks 5 km.
In which direction is he now,
with respect to his starting

point? :
(1) East (2) North
(3) South  (4) West

Given below is a statement,
followed by two arguments
numbered I and II. You have
to decide which of the argu-
ments is/are ‘strong’ argu-
ment(s) that justify/justifies
the statement.

Statement :

Should the government ban

liquor production?

Arguments :

1. Yes, this will decrease road
accidents and many other
health issues.

II. No, this decision will kill
the jobs in liquor industry

(1) Only I is strong

(2) Only II is strong

(3) Neither I nor 1l is strong

{4) Both I and II are strong

64.

65.

66.

67.

68.

Given below is a question fol-
lowed by two statements, I
and 11, each containing some
information. Decide which of
the statements are sufficient
to answer the question.
Question :

Rajesh’s salary is Rs. 12,500.
What is Arvind's salary?
Statements :

I. Arvind gets % th of the to-

tal salary of his and
Rajesh’s.

IL. Two-thirds of Arvind's sal-
ary is equal to the average
salary of both.

(1) Statement I alone is suf-

ficient.

(2) Statement II alone is suf-
ficient.

(3) Either statement I alone
or statement II alone is
sufficient.

(4) Boththe statements [ and
1I together are needed.
Select the option that is re-
lated to the third term in the
same way as the second term

is related to first term :

Ammeter : Current :: Seismo-

graph: ?

(1) Humidity

(2) Rain

(3) Earthquakes

{(4) Thickness

Select the option that is re-

lated to the third term in the

same way as the second term
is related to first term :

Bees : Swarm :: Riders : ?

(1) Drivers (2 Cavalcade
(3) Man (4) Fast
Calf is related to Cow in the

same way as Larva is related
to:

(1) Snake (2) Mosquito
(3) Fish (4) Insect
Select the option that is re-

lated to the third term in the
same way as the second term
is related to first term :
Bangladesh : Dhaka :: Italy: ?
(1) Rome (2) London

(8) Tokyo (4) Havana

69.

70.

71.

72,

73.

74.

75.

76.

77.

EFG is related to 567 in the
same way as OPQ is related
to:

(1) 141516  (2) 131415
(3)151617 (4) 678
Select the option that is re-

lated to the third term in the
same way as the second term
is related to first term :

EV:MN:JQ:?

(1) DF (2) GH
(3) KM 4) IR
Select the option that is re-

lated to the third term in the
same way as the second term
is related to first term :

BCE:235:: KMQ:?
(1) 101113 (2) 111417
(3) 111317 (4) 111217

Select the option that is re-
lated to the third term in the
same way as the second term
is related to first term :
Teacher : School :: Umpire :?
(1) Pitch

(2) Field

(8) Badminton

{4) Third Umpire

Identify the next term in the
following letter series :

BE, DG, FI, HK,?

(1) IJ (2) IK

(3) JK 4) JIM

Identify the next terms in the
alphabet serjes :

A E. L O7?

m s @ T

3) U 4 Vv

Identify the missing term in
the following letter series :

CFI, FIL, ILO,?
(1) UK (2) LOP
(3) OPQ (4) LOR

Identify the missing term in
the following number seties :
11, 12,23, 85,.68, %

(1) 73 2) 83

(3) 93 (4) 103

f ROTATE is coded as URWD-
WH, how is COUNTING cod-
ed in that language?

(1) FRXQWLQJ

(2) RJPSCTUD

(3) WPLMOSUK

(4) TMJCKVPE

J\ UCSE-73 |
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78. In a certain code, CHORUS is
written as PIDTVS. How will
SINGER be written in that
code?

(1) JOTLHF (2} OJTMHK
(3) JOPFTH (4) OJTSFH

79. In a certain code language,
VEGETABLE is written as
FMCBUFHFW. .

How is ARSENAL written in
that code language”

(1) MBGLECT

(2) MBOFTSB

(3) BGKMORC

(4) OBCSKLM

80. How many such pairs of let-
ters are there in the given
word which has/have as
many letters between them in

the word as they have in'the |,

English alphabet.

FIRST :
(1) Two (2) Three
(3) One (4) Four

81. The positions of how many
letters in the word PANTRY
will remain unchanged when
the letters within the word are

arranged alphabetically?
(1) Two - (2) Four
(3) One (4) Three

82. Raina’s mother is the only
daughter of Mohini's. father.
How is Mohini's husband re-
lated to Raina? ,

(1) Father (2) Brother
(3) Uncle (4) Grandfather

83. A kickboxer said to a beauti-
cian, “Your mother’'s hus-
band’s sister is my aunt.”
How is the beautician related
to the kickboxer?

(1} Sister

(2) Paternal aunt
(3) Maternal aunt
(4) Daughter

84, Select the option that is re-
lated to the third term in the
same way as the second term
is related to the first term.
‘Semantics: Language :: Neph-

rology :?
(1) Kidney  (2) Nerves
(3) Heart (4) Bones

85. Select the option that is re-
lated to the third term in the
same way as the second term
is related to the first term.

Gardener: Harrow :: Sur-
geon:___

(1) Scalpel {2) Chisel

(3) Sword (4) Pin

Directions {86-88) : The fol-
lowng Venn diagram shows informa-
tion about the result of Survey of
1500 persons in a city with respect
to their knowledge of Kannada (K],
Hind (H) & Telugu (T)

86. What is the ratio of persons
with respect to their knowl-
edge on all the three languag-
es to those who do NOT know
Kannada(K)?
1y 1:14 (2)14:1
(8) 1:24 (424:1

87. What is the ratio of persons
who know Telugu and Kanna-
da to those who know Kanna-

da and Hindi?
(1) 2:3 2)3:2
3 1:3 4)3:1

88. What is the ratio of persons
who know Telugu and Hindi
to those whoknow only Hin-

di?
(1)-1-%8 @2)1:2
(3) 5:3 4)3:5

Directions {89-90) : Study
the following chart carefully and
answer the questions.

The bar chart shows informa-
tion about the sale of wrist watch-
es from five branches A, A,, A, A,
and A, of a company ABC in 2016
and 2017.

e
§ 25T
2 20+ i
g 15T 7
9T 7| o > AT
7 Z
A A A A A
N 2016 [ 2017

89. What is the total sale of
branches A, AB,ASfor the year
20186 (in crores)?

(1) 40 (2} 60
(3) 35 (4) 50

90. What is the ratio of the total
sale of branches A , A,, A, for
the year 2016 to that of 201772

(1) 4:7 2)4:5
(3) 4:3 42:3

91. Choose the figure that is dif-
ferent from the rest,

! O ] Ll
U = § R U I [
L! L 1 1
(1 (2) (3) (4y

92, Choose the figure that is dif-
ferent from the rest.

A | HoIN N A
AalPo] N A
D @ B @,

93. Choose the figure that is dif-
ferent from the rest:

vV | — | =~
f'_—l_j A - N7
1 @ (3) (4) ;
94. Choose the word that is least
like the other words given in
the options?
(1) Rat {2) Crocaodiles
(3) Snake (4) Lizard
95. Choose the word that is least
like the other words given in
the options?
(1) Jasmine (3) Mango
(2) Lotus {4) Rose
96. Choose the word that is least
like the other words given in
the options?
(1) Apple {3) Strawberry
(2) Cherty (4) Marigold
97. Choose the figure that is dif-
ferent from the rest.

| ¢

1 @2 B @0

98. Choose the figure that is dif-
ferent from the rest.

00|@

0 @ © @

E_74 |
| UCSE-74



SOLVED PAPER-05

SOLVED PAPER-05

929.

100.

101.

102.

103.

104.

Choose the figure that is dif-
ferent from the rest. -

7 | &\ v
a |\ V| 4
m @ B 0
Select the number of squares

in the figure.

/R

O O

O

(1) 12 (2) 14
(3) 16 (4) 18
Identify the mirror image of
the following figure.

1 @ 4)
How will the pattern appear

when the transparent sheet is
folded along the dotted line?

O

0_O
(3)

7 | A XX il A4 A
aol¢| BY 12 |9 ¢
nwm @2 B @

In the box that can be formed
with the following sheet as
shown in figure (X), what will
be on the opposite side for B?

A
IBIclDl
E
[F
x)
ME 2 F
(3)B (4D

In the box that can be formed
with the following sheet as
shown in the figure (Y), what
will be on the opposite side for
K?

|x|L
M
N
o|p|
()
(1) M 20
(3P @N

105.

106.

- 107.

108.

109.

110.

111.

112,

113.

Two positions of a same dice
are as shown below. Identify
the number at the bottom
when the top is 1.

D&

1) 2 23
(3) 6 4) 4
What is the next number that

follows in the series?
14, 22, 32, 44, 58, 74,7

(1) 90 (2)92
(3) 84 4)87
What is the next number that

follows in the series?

6, 96, 196, 306,?

(1) 426 (2) 440

(3) 395 (4) 450

Identify the missing number
in the given series.
8,24,72,7,648

(1) 200 (2) 326
(3) 232 4)216
Deepak ranks twenty from top

in a class of 50 students.
What is his rank from the
bottom?

(1) 32 2) 31
(3) 30 4) 35
Ravi is ninth from the left end

and Praveen is fifth from the
right end in a row of boys. If
there are seven boys between
Ravi and Praveen, how many
boys are there in the row?

(1) 28 (@ 24

(3) 21 (4) 30

Roja ranked fourth from the
top and twenty sixth from the
bottom in a class. How many
students are there in the
class?

(1) 29 (2) 30

(3)28 (4) 27

If 1 August is Wednesday,
then 1 September will be :
(1) Saturday (2) Tuesday

(3) Monday (4) Sunday
How many days will be there
from 1 February, 2000, to 31
March, 2000, (including both
days)?

(1) 58 (2) 52

(3) 60 (4) 61

(" Uc<E-75 |
UCSE-75

= et

114.

115.

116.

117.

118.

119.

120.

121.

122.

123.

Hdare § yuF o € ¢

(1) =i (2) =

(3) TR (4) wH

o vl H fom, oo, SRS o

%mﬁéqﬁaﬁwﬁﬁm,%:

(1) o wear €

(2) T FeOW §

(3) 3read wEam &

(4) 9re7 FEEW ©

(?) =8 fow fog %1 W # ¢

(1) T ferm

(2) TEEEE

(3) ereu fom

(4) 9=

TR SO TEE A T ¥
19 e FW@ 2

(1) faumw (2) fawda

(3) waE= (4) TamERE

% v < e’ el w1 Y

(1) T &S B

(2) &9 € " T

(3) TH FW Y IX A T

(4) TF @ FW Y q WA B

T @ TR 9E

(1) &« (2) T

@) & (4) Swed
W@?ﬁﬁaﬁmﬁﬂﬁ?
(1) =9 @)=

(3) @ (4) IR

ol w1 T @ ofue 9 SEf

fi5q JEER | B €2
(1) ST STAHR
(2} T4 ATHER

(3) STWH 3R

(4) w9 IEHR
;ﬁaﬁmaﬁﬁlﬁwmﬁ
7

(1) ¥ (2) gut

@) S F  (4) EER
‘TR w1 EifaT w9 e
(1) aqufeertt  (2) o

(3) @O (4) T

(A, S0
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. 124, ‘sEmEl & et e B @
mw (2
(3) foerm  (4) e
“qrae T R e W g © e
(1) Te="  (2) sga=d
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126.

127.
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129.
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135.
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137.

138.

139.
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141.

142,

143.
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=] EXPLANATIONS ==

1.

2.

(2) Article 66 of Indian consti-
tution deals with the election
of Vice President of India. It
states that the Vice President
shall be elected by the mem-
bers of an electoral college con-
sisting of the members of both
Houses of Parliament. Besides,
it lays down the eligibility con-
ditions for his election, etc.
(2) Damascusis the capital of
the Syrian Arab Republic; it is
also the country's largest city,
following the decline in popu-
lation of Aleppo due to the
battie for the city. It is collo-
quially known in Sytia as the
City of Jasmine.

. (1) The Burmese Kyat is the

currency of Myannar (Burma).
The term kyat derives from the
ancient Burmese unit kyattha,
equal to 16.3 grams of silver.
The present kyat was intro-
duced on 1 July 1952. It re-
placed the rupee at par.

. (2) Nigeria is the most popu-

lated country in Africa with
over 181 million pecple and
accounts for about 15.98% of
the total African population.
The population growth has
seen Nigeria become the 7th
most populous country in the
world. Ethiopia, Egypt, Congo
and South Africa are other
most populated countries in
Africa.

. (2) Canada is the second larg-

est country in the world and
about 30% of its land area is
covered by forests. This equals
to about 49 lakh square kilo-
metres, roughly the size of In-
dia. Like Russia, a large part
of Canada is uninhabited and
covered in snow for most of the
year which makes it ideal for
alpine and tundra vegetation
to grow there. The large num-
ber of mountains, rivers and
lakes ensure that the soil is
ideal for forests to sustain
themselves

. (1) The Narmada, also called

the Rewa, originates from the
Narmada Kund, located on the
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.

Amarkantak hill in the Anup-
pur District zone of Madhya
Pradesh. It flows through
Madhya Pradesh and Gujarat
before finally ending its jour-
ney in the Gulf of Khambat in
the Arabian Sea.

(3) Kriti Bharti is a social ac-
tivist associated with the an-
nulment of Rajasthan. In
2011, she established the
Saarthi Trust to help prevent
child marriage by educating
girls about their rights.
Throughout 2012, Kriti worked
with Laxmi and the courts to
have the marriage annulled
and eventually it was; the first
ever child marriage annuiment
in India. Since then, the
Saarthi Trust has annulled 31
child marriages and prevented
over 900 more.

. (1) Union Home Minister Ra-

jnath Singh on 21 May 2018
announced that Chhattisgarh
would get a specialised anti-
Naxal combat force called
"Black Panther" on the lines
of the Greyhound unit. The
Greyhounds are a special force
in Telangana and Andhra
Pradesh that specialise in
anti-insurgency operations
against Naxalites and Mao-
ists.

. (2) The Shimla Agreement was

10.

signed between India and Pa-
kistan on 2 July 1972 in Shim-
la, the capital city of Indian
state of Himachal Pradesh.It
followed from the Bangladesh
Liberation war in 1971 that
led to the independence of
Bangladesh, which was earli-
er known as East Pakistan.

(4) National Bank for Agricul-
ture and Rural Development
(NABARD), on 20 July 2018,

. launched Centre for Climate

Change in Lucknow, Uttar
Pradesh. It is first of its kind
centre in South East Asia. It
aims at accelerating concert-
ed climate action by various
stakeholders in government,
private, financial and non -
government sectors.
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11.

12.

13.

14.

15.

(3) Christine Madeleine Odette
Lagarde is a French lawyer and
politician who is currently
serving as the Managing Direc-
tor and Chairwoman of the
International Monetary Fund.
Lagarde has held the position
since 5 July 2011. Previously,
she held various, senior min-
isterial posts in the French
government.

(4) Blood clot is formed be-
cause of the presence of cer-
tain cells in the blood called
platelets, also known as
thrombocytes. As soon as a
blood vessel wall is damaged,
a series of reactions normally
takes place to activate plate-
lets to stop the bleeding. Sev-
eral proteins such as collagen,
thrombin; and von Willebrand
factor are involved in the clot-
ting process.

(1) Fertilization is the fusion
of gametes to initiate the de-
velopment of a new cell called
zygote. The gametes form to
fulfil the purpose of meiosis:
the mixing of genetic material
via the combination of a hap-
loid maternal gamete and a
haploid paternal gamete in fer -
tilisation to form a totipotent

_diploid zygote that is geneti-

cally different to the parent
cells.

(2) For adults 18 and older, a
normal resting heart rate is
between 60 and 100 beats per
minute (bpm), depending on
the person’s physical condition
and age. For children ages 6
to 15, the normal resting heart
rate is between 70 and 100
bpm, Generally, a lower heart
rate at rest implies more effi-
cient heart function and bet-
ter cardiovascular fitness.

(4) A plastic which once
set,does not become soft on
heating and cannot be mould-
ed a second time,is called ther-
mosetting plastic. Once set in
a given shape and solidified,a
thermosetting plastic cannot

. be re-softened or re-moulded.

Bakelite and melamine are ex-
amples of thermosetting plas-
tic:

16.

17.

18.

19.

20.

(4) An adult human normally
passes about 1 to 1.8 litres of
urine in 24 hours. The volume
of urine depends upon the flu-
id intake, level of physical ac-
tivity and environmental tem-
perature. Certain substances
such as tea, coffee, and alco-
hol increase urine output.

(1) International Day of Yogais
celebrated annually on 21
June since its inception in
2015. 21 June was proclaimed
as the International Yoga Day
by the United Nations on 11
December 2014. The Indian
Prime Minister Narendra Modi
in his UN address suggested
the date of 21 June, as it is
the longest day of the year in
the Northern Hemisphere.

(2) The Nobel Prize in Physiol-
ogy or Medicine 1943 was di-
vided equally between Henrik
Carl Peter Dam "for his discov-
ery of vitamin K" and Edward
Adelbert Doisy "for his discov-
ery of the chemical nature of
vitamin K." Dam's key experi-
ment involved feeding a cho-
lesterol-free diet to chickens.
{3) Inside IB and RAW: The
Rolling ‘Stone that Gathered
Moss has been authored by K.
Sankaran Nair, the former
Head of India’s external intel-
ligence agency RAW and a
former Indian High Commis-
sioner to Singapore. Nair was
credited with the success of the
1971 Bangladesh war.

{4) The Constitution (122nd
Amendment) Bill, 2014 confers
simultaneous power upon Par-
liament and the State Legisla-
tures to make laws governing
goods and services tax. It sub-’
sumes various Central indirect
taxes and levies such as Cen-
tral Excise Duty, Additional
Excise Duties, Service Tax,
etc. The GST Constitutional
(122nd Amendment) Bill' 2014
became the GST Constitution-
al (101st Amendment) Act’
2016 when the president as-
sented the provisions of bill on
8 September 2016.

21. (1) ATrojan Horse is an unau-

thorized program which func-
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22.

23.

24,

25.

26.

tions from inside what seems
to be an authorized program,
thereby concealing what it is
actually doing. It is any mali-
cious computer program which
misleads users of its true in-
tent. The term is derived from
the Ancient Greek story of the
deceptive wooden horse that
led to the fall of the city of
Troy.

(3) Saurabh Chaudhary hails
from a village named Kalina in
Meerut district of Uttar
Pradesh. He won the Gold med-
al at the 2018 Asian Games in
10 m Air Pistol. He also
claimed Gold in Junior Men
10m Air Pistol at 2018 World
Championship in Changwon,
Korea.

(4) Chambal, Sind, Betwa,
Ken, etc are the right bank
tributaries of Yamuna river.
Kalyani River of Rudrapur is
not among its tributaries. An-
other river of the same name
rises in the Fatehpur tahsil of
Uttar Pradesh and after wan-
dering through the district in
a most tortuous course, emp-
ties itself into the Gomti near
the village of Dwarkapur.

(1) Potassium deficiency, also
known as potash deficiency, is
a plant disorder that is most
common on light, sandy soils.
In Uttar Pradesh, soil deficient
in potash is found in the
north-western region of the
state. Potash deficiency is es-
pecially marked in the districts
of Jaunpur, Azamgarh and
Mhow.

(8) The Bundelkhand region of
Uttar Pradesh comprises Ma-
hoba, Chitrakoot, Jhansi, Ja-
laun, Lalitpur, Banda and
Hamirpur. Three districts from -
Jhansi Division and four dis-
tricts from Chitrakoot Division
account for the Bundelkhand
districts from the state.

(2) The Lion Capital of Ashoka
is a sculpture of four Asiatic
lions standing back to back, on
an elaborate base that in-
cludes other animals. It is now
preserved in the Sarnath Mu-
seum, in Uttar Pradesh.

Qe
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27.

28.

29.

- 30.

81,

¢ 32,

‘33.

(2) Bundelkhand was earlier
known as Jejabhukti or Jejak-
abhukti (“Jeja's province’).
According to the inscriptions
of the Chandela dynasty, this
name derived from Jeja, the
nickname of their ruler Ja-
yashakti. After the Bundelas
replaced the Chandelas
around 14th century, the re-
gion came to be known as Bun-
delkhand after them.

(1) BhartenduHarishchandra
started the publication of Bala
Bedhini, India's first feminist
magazine, on 9 January 1874.
Published from Benares, it was
directed at female readership.
(2} Ustad Enayat Khan was
born in Uttar Pradesh into a

family of musicians. His father.

was the great sitar maestro
Imdad Khan, who taught him
the sitar and surbahar (bass
sitar) in the family style,
known as the Imdadkhani
Gharana or Etawah Gharana
(school), named after a small
village near Agra called
Etawah.

(2) The Third Buddhist coun-
cil was convened in about 250
BCE at Asokarama in Patalipu-
tra, supposedly under the pa-
tronage of Emperor Ashoka. It
was presided over by the elder
monk Moggaliputta-Tissa and
one thousand monks partici-
pated in the Council.

(2) The Reserve Bank of India
is the central bank of India,
was established on April 1,
1935, under the Reserve Bank
of India Act 1934. Following
India's independence on 15
August 1947, the RBI was na-
tionalised on 1 January 1949.
(1) Chemancheri Kunhiraman
Nair is a renowned Kathakali
artist from Chemancheri. He
spent the last eighty years in
learning Kathakali and teach-
ing it.He spent the last eighty
years in learning Kathakali
and teaching it.

(2) According to the data from
the Food and Agriculture Or-
ganization Corporate Statisti-
cal Database 2016, India is the

34.

35.

36.

37.

second largest producer of on-,

ion in the world (19,415,425
tonnes). China comes first
with 24,783,760 tonnes of on-
ion production. Egypt, USA
and Iran came third, fourth
and fifth in this regard.

{4) According to the latest data
released by the commerce de-
partment in April 2018, India’s
exports grew at 9.8% during
2017-18, the highest growth
rate in six years. Imports went
up nearly 20% as commodity
prices pushed up the value of
shipments in and out of the
country along with a pick-up
in global trade.

(2) Part 1I of the Indian consti-
tution ‘deals with Citizenship.
Under this part, the confer-
ment of a person, as a citizen
of India, is governed by Arti-
cles 5 to 11. The legislation
related to this matter is the
Citizenship Act 1955.

(1) Article 24 of the Indian con-
stitution deals with prohibi-
tion of employment of children
in factories, etc. It states that
no child below the age of four-
teen years shall be employed
to work in any factory or mine
or engaged in any other haz-
ardous employment.

(2) Article 55 of Indian consti-
tution deals with the manner
of election of the President of
India. It states that as far as
practicable, there shall be uni-
formity in the scale of repre-
sentation of the different
States at the election of the

. President and that the election

38.

of the President shall be held
in accordance with the system
of proportional representation
by means of the single trans-
ferable vote.

(3) Madabhushi Ananthasay-
anam Ayyangar was the first
Deputy Speaker of Lok Sabha.
He was elected in 1948 as Dep-
uty Speaker of Lok Sabha with
Ganesh Vasudev Mavalankar
as the Speaker. After the death
of Mavalankar in 1956, he was
elected as Speaker of Lok Sab-
ha.

39.

40.

41.

42,

43.

44.

(2) Largest possible vélue of x
= HCF of 840 and 960 = 120

840) 960 (1

840_

120)840 (7

840
X

(4) A number will be divisible
by 12 if that is divisible by 3
and 4 both.
Number in each option is di-
visible by 4 as the number
formed by last two digits is di-
visible by 4.
When the sum of digits of a
number is divisible by 3, the
number is divisible by 3.
5+7+2+2+8=24Whichis
divisible by 3.
. Required answer = 57228
(2) Ratio of division =9 : 5
Sum of the terms of ratio
=9+5=14
. Length of shorter piece

= (%X154J metre
= bb metre
(1) 78% of 450

450 %78
= 100 =351
(3) S.I.

Principal x Time x Rate
- 100
According to the question,
xxX7Tx9 yx1l6x525
1004 100

X 16x525 4

Y aid 3y, o

(4) Let the C.P. of item be Rs.
X

According to the question,
x%x (100~ 12)% = 198

=

198x100
It
To gain 8%,
S.P. of article
225%108

100

Rs. 225

= Rs. 243
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.. Required increase
= Rs. (243 - 198)
=Rs. 45

45.

(100 - 16)% of x = 1470

x x84
100

= =1470

1470 %100
A

46.
same,

Let Akash’s investment
=Rs. x

1875 it 225
x 288
= 225x =288 x 1875
288 x1875
225

=Rs. 2400

= x=

47.
dent who left

=25%x24-24%25=0

=Rs. 1750

(1) Marks obtained by the stu

(2) Marked price of toy = Rs. x
According to the question,

(3) Period of investment is

Marks obtained by the student

who joined
=25x%24.8-24x25
=620-600=20

.. Required average marks

0+20

o
I
e
o

48,

49.

50.

51.

52.

600x21
= {——‘_) =Rs. 126

100
(1) Work done by Abhay and
Shreya in first two minutes
-
a2 ¥ 70
5+3
-~ 210

8 4
=210 T 105
- Work done in the first 52
4 % 26
105

minutes =

104
=105
Remaining work
104 1
105 ~ 105
Now, it is the turn of Abhay.

=1-

1
~ Time taken in doing 105
part

1
= | ——x42x60
= (105 ] seconds

= 24 seconds

:. Required time = 52 minutes
24 seconds

(3) Let Esther work for x days.
. Raksha works for (x-4) days.
According to the question,

X x-4
20 T 12

3x+5x-20
N T T T =

60
= 8x-20=60
=>8x=60+20=8’3

80
=x="g

(3) Let the minimum speed of
the rescue vessel be V kmph.
=V kmph.

Relative speed = (V + 12) kmph.
Time taken in reaching

=23 ~ 8 = 15 minutes
Because evacuation takes 8
minutes.

= 10 days.

{ UcSE-20 |
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53.

55.

56

57.

; 2 Lo 2
..(V+1)x60— 0

20x 60 80
15 =

= V=80~ 12 = 68 kmph.
(4) New speed of Paulson

=2V+12=

3
=% th of usual speed
. Time taken

5
= rd of usual time

5
:, g rd of usual time — Usual

time = 45 minutes

2
.= —rd of usual time

3
= 45 minutes
= Usual time

45x3 )
2 minutes

9 2
= — hours = 1= hours

. (2)?=48+[25-{20-(11~-16

+2 x4

=48+ [25-{20-(11 -8 x 4)}]
=48 + [25 - {20 — ((21)}]

=48 + [25 - {20 + 21}]

= 48 + [25 - 41]
=48-16=32
(4)? = 256.0000
25.6000
2.5600
0.2560
0.0256
284.4416
g 1B 13x3 39
®) 79 = 19x3 = 57
13 13x7 91
19 ~ 19x7 ~ 133
13 - 13x15 195
19 - 19x15 ~ 285
13 13x16 208
19 ~ 19x16 ~ 304
(1)47 = 1 x 47
141 =3 x 47

: e
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188 =4 x47
.. Required LCM
=3 x4x47 =564

58. (2)

15

+ +3

3 -6
I Yl Yl

6 18 9 21 3 24

+3

1l f t
+3 +3

59. (4) (15)2=225

(17)2=289
(19)% =361

-

60. (2)15+2=17

17 +5=22
22+7=29
29+11=40

40+13=[53]

61. (1)

North-West

South-West

62

West

.

63.

North
North-East

East

South-East
South

South-East becomes North
and North-East becomes West.
It means the direction indica-
tor has been rotaled through
135° anticlockwise. Therefore,
South-West would become
East.

(1) 3 km

5 km 5 km

o

Starting
Point

(1) Only argument I is strong.
Liquor is responsible for rash
driving and many health risks.
Therefore, argument I is
strong. Jobs can be found in
other industries. So, argument
II does not hold strong.

{3) From statement I

Suppose Arvind's salaryisRs. x.

65.

- 66.

67.

68.

69.

70.

3
x=(x+12,500) x 5

= Bx=3x+ 37, 500
= Bx—- 3x= 37, 500

37,500
2
Arvind's salary = Rs. 18,750
From statement II
Suppose Arvind's salary is Rs. x

2 x+12500

e vy

= 4x=3x+ 37, 500

= 4x-3x=37, 500

. x=Rs. 37, 500

(3) The first is used to measure
the second. Ammeter is a sci-
entific instrument used to
measure the strength of an
electric current.

Similarly, Seismograph is a
scientific instrument used for
recording the intensity and
origin of earthquake shocks.
(2) A group of bees is called
swarm. Similarly, a group of
riders is called cavalcade.

(4) The young one of cow is
called calf. Similarly, larva is
an insect at the stage when it
has just come out of an egg and
looks like a short fat worm.
(1) Here, ‘Country-Capital’ re-
lationship has been shown.
Dhaka is the capital of Bang-
ladesh. Similarly, Rome is the
capital of Ttaly.

BEFG

L

Position number in the English
alphabetical series.

Therefore,
O P @Q

by

15 16 17
4E «—V
M ¢— N

{ UCSE-81

b = 18,750

Pairs of Opposite letters.
Similarly,
Je+——Q
l¢«——R
71.3) B C E
2 Buub
Position number in the English
alphabetical series.
Similarly,
K M Q
11 13 17
72. (2) Teacher teaches in the
school. Similarly, umpire reg-
ulates the progress of game in
the field.
73. (4)
B ._i'.g....’D “iPF ‘ﬁbﬂ Lzb J
E-*25q*25 1 2, 42,y
74. (3) Five Vowels are given in the

series.

A B e e )
75, (4) C—ap 23571 23,07
F—tS—fILs-’L_ﬁ_’O
13 1 +3 o +3 g
76. 3)11+1=12
11+12=23
12 +23=35
23+35=58
35 +58 = [ 93]

T (1)
ROTATE—URWDWH
+31‘T

+3
+3
+3
+3
+3
Therefore,
COUNTING—FRXQWLQJ
L] +31‘T
i +3
+3
+3
+3
+3
+3
+3

\ AEtaens Lo
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78..[M)Cy; By O, R -U 8

+1 +1
P i D T VvV S
Therefore,
) I Ne G vE. R
+1 +1
O alsyadl; 5! F
79. (2)
VEGETABLE—2FMCBUFHFW
+14 A4 4
+1 i
+1
+1 ’
+1 !
+1 |
+1)
+1
+1
Therefore,
ARSENAL—DMBOFTSB
+1
80. (2)
6 9 18 19 20
ot R YS T

8l. A [p[A[N[T|R|Y
AIN|P|R|T|Y

82. (1) Only daughter of Mohini’'s
father means Mohini herself.
Mohini is mother of Raina.
Therefore, Mohini's husband is
father of Raina.

(1) Mother's husband means
father.

The sister of beautician’s fa-
ther is aunt of kickboxer and
beautician. Therefore, beauti-
cian is sister of kickboxer.

(1) Semantics of the branch of
linguistics dealing with the
meaning of worlds and sen-
tences (Language). Similarly,
Nephrology is that branch of
science which deals with kid-
ney.

(1) Here, ‘Worker — Tool’ rela-
tionship has been shown. Gar-
dener uses harrow. Similarly,
Surgeon uses scalpel for sur-

gery.

- 83.

84.

85.

86.

87

&

89.

90.

9l.

(1) Required ratio
=50 : (300 + 150 + 250)

=50:700=1:14
(2) Required ratio = 150 : 100
=3:2
(4) Required ratio = 150 : 250
=3:5
(1) Total sales by A}, A, and A,
in 2016 = (5 + 25 + 10) crores
=40 crores
(2) Total sales of A, A, and A;:
Year 2016 = 40 crores
Year 2017

= (10 + 15 + 25) crores
=50 crores ‘
Requu’ed ratio =40:50=4: 5

(3) Except figure (3) in all oth-
er figures there are four differ-

" ent designs. In figure (3), there

are only two designs and each

" design appears twice.

92.

93.

o4,

95.

96

97.

98.

99.

(4) Obviously, figure (4) is dif- |

ferent. In all other figures if the
design has three sides, there
are three designs and if the
design has four sides, there are
four designs.

(3) Except figure (3), in all oth-
er figures one design is invert-
ed.

(1) Except Rat, all others be-
long to reptile class. Rat is a
rodent (Mammal).

(2) Except Mango, all others
are flowers. Mangp is a fruit.
(4) Except Marigold, all others
are fruits. marigold is a flow-
er. X

(4) Except figure (4), in all oth-
er figures there are two com-
plete designs overlapping each
other.

(3) Obviously, figure (3) is dif-
ferent from the other figures.
Except figure (3), in all other
figures the shaded parts are
just opposite each other.

(4) Except figure (4), in all oth-
er figures the lined parts are
located at opposite positions.

(" UCSE_82 )
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'103. (4) After folding the ﬁgu:re

 107.(1)6+ 90 =96

100. (2)

A B o
R S vV w|

L

H P o) D
A B, O [N Mg g
Dl Cl HA Gl

G F i
The squares are :

. ABQH; BCDQ; QDEF;
‘HQFG; RSTU; VWXY; 04
AB,C D,EF G H; JQF;
JKLQ; ‘QLMN; PQNO; IKMO;
ACEG '

101. (2) % . .
102. (1) g

i

A lies opposite E.
B lies opposite D.
-C lies opposite F.
104. (3) After folding the figure :
K lies opposite P.
L lies opposite N:
M lies oppeosite O.
105. (4) 2,3, b and 6 are on the fac-
es adjacent to 1.
Therefore, 4 lies opposite 1.
106.(2) 14 +8=22
22 +10=32
32+12=44 -
44 +14=58 i
58 +16=74 '

74 + 18 =

96 + 100 = 196
196 + 110=306

306 + 120 =

108.(4)8 x 3=24

‘D

24x3=T72

72x3=[216]

216 x3 =648

e TRt )
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109. (2) Rank of Deepak from the
last =50-20 + 1 =31st

110. (3) 9th 5th
—R]|[[I|Ce——

Total number of boys in the
row=9+7+5=21

111. (1) Total number of students

intheclass =4 +26-1

=29

(1) Number of days upto 1 Sep-

tember =30+ 1 =31

Number of odd days

112.

T} = 4 weeks 3 days
- 1 September
= Wednesday + 3 = Saturday
113. (3) the year 2000 was a leap
year.
Number of days from 1 Febru-
ary, 2000 to 31 March, 2000
including both days)
=29+ 31=60

114. (4) e 5 &9 a1 €1 & - S,
wHae #iR wEarsl FHar ¥
‘! e B R
TE ;T AT TN TR SR )

115.(3) f w= W fer-asd sRe
g SRR Hifed w1 WEE
& g, AfaEd W o W@
si ¥ ol T sem T A
fesa-fagiow, ag=agaivs,
TorniEeie, IR/ RS
e g o v )

116. (2) WE faum fag (?) %1 ™
e ¢ ot i e (1)
B T walE oeulRE SR A
fag =i o () @ (-) ¥ =
@ ¢

117.(1) T 0 W 1Y T I
Tty 2ol wepe e €1 gRTER, arfirene
& A o Feh ANy B oFEd
W T

118. (4) 39 Tl =1 ad ' @
T 9 o @9 B B B
FEEIOT ; TRoel ® W w wE
2R TG A B WEEER IE-TE
B W A ‘T vy

119. (1) T ™ 61 wrd T e’
B 81 39 T Y quE @ 2l
T W T 9N NE g, 99, 99ed,
aeRT S 1

120. (2) ‘Sefeml’ g3 & Fmi qw
0 B & Ry | 2Er IR wE
¥ % 5% I & B €1 59 O
o § 24 wEd we gl

121.(3) I &1 G I SHIN Feq
#| frdt ool w1 % ¥ Aafus SR
S T 21 A wed § W R
= qF w1 oAy g ¢ feeg
=Sl i ST § T8 SETIH T
2 fr o0 98 g W o W
el

122.(2) 7% H TaY Bl R @
Faant €1 @l & fafad €9 9,
fafa faedi &1 Al e ¥

123.(1) ‘geelt’ v w1 WifET '
‘qufert’ gm

124.(2) ‘s’ W= w1 YfedT w9
‘orrEr’ g

125. (1) 395 9 H THAET SR
gan 1 fafka 2 o fedlt 3 pam @
T B € - TheeH SR SgEel

126. (2) 39w 9= § ' wRew fae
w WA BN #, S wE eNE
1 fag 21 o: == € T sw@w
T § FE FWE T g g

127. (1) ovaras e % i 9% B
¥ - Su9 N, A e UF &
kel

128. (3) fasiow & 7eTa: 6 TR e ¢
(i) ToETRs (i) Sehdarad
(iil) HErEE® (iv) TRHETOETES
(v) SaferE® (vi) faumErs

129. (4) ‘9%’ WK G 2 fawen o
aft iy o7 s femimor 2

130. (3) frei w1 &1 W T T F
Ty TR T W R FEew €

131.(1) ¥ % ad fea & wfe
I ' QR

132. (2) T=pa ¥ ) form R
% WIE EF OTe YR G Heeld
gl

133. (4) T&pd & & TR W &9 TRe
F wy e ¥ WO T § 9
Feon ¢ Ku T fawen § ‘men’
¥ A5HE ¢ WElE W9 I wEH
= #

134, (3) oA &9 s et v, v
¥ HEAR Bl

135. (1) ‘e’ v %1 Sfaa fawiw
‘o B ‘e W P
‘gt @ faam e’ T e W
ot ‘e’ @

186. (2) ‘&9 <1 vee™ 91 v ere
B 21

137.(4) ‘o Sied ® wE fagh s’
¥ fou 3o v eeTen Bl

138. (1) 39 - T
& - I

139. (3) frfwr — =+ 7o
a7 3w v ¥ Ty sved v
£ B

140.%2) ‘et =% § W@ O ‘Ee’
l

141. (1) =R 9% ¥ =1 & #a ¥ fFar
I B # a4 v fAi g
2l
Ieony
feu + e — femem
A +3 — A
(W) (&) (W=N)

142.(1) S9gF 95F ¥ gEAm g
s B aem W SER F WA
w® ‘52" wEAm w1 & sfa wm

143. (3) fFEht wowfas w© =1 g
gy fom’ SEeE #

144. (2) ‘S’ T=wfy ma fow
‘e g Wem pla #1 T =
g fes St & 9die R
w_E fea T oem

145.(1) 8 & &9 ¥ HEEd B &
IR 7E € f6 emu & o
wHt & 7 F: gEd €

146. (4) =reaa w1 feufa § Aewa wF
¥ HRU G IO 8 W 2

147. (3) WeEA W W g@g € =@l
TER f #

148. (1) Hi¥Ea WF & T § e
T W A9 W B FEa el
149. (4) TEw w1 3few W Aewa

wE' g =meT

150. (1) frre ¥ ot ‘ frerfer’ samER
H THAT Afee HaraEt HewRat
a9 g Wea opfa €1 ‘weea’,
‘FmEEt Td fe-wee e
Hferefiere 1@, FEwH TEE T
s foe sweam ‘efety’ ga
= 2 mmim]
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